Unit 1 Test

STANDARD LEVEL

ANSWER KEY
Grammar Use of English
1 7
1 don’tgo 1 on
2 Does, like 2 sometimes
3 doesn’t work 3 lesson
4 don’'t 4 at
5 plays 5 go
6 always
2 7 play/have
1 at 8 do
2 on
3 on
4 in Reading
5 in
8
3 17T
1 A 2 F
2 B 3 F
3 A 4 NM
4 B 5 F
5 A 6 T
9
Vocabulary 1 study
2 difficult/hard
4 3 home
1 do 4 sayl/talk/speak
2 has 5 always
3 geography 6 free-time
4 maths
5 go
5 Listening
1 swimming pool 10
2 library 1 C
3 museum 2 B
4 shopping centre 3 C
5 park 4 C
5 A
6
1 goes 11
2 surf 1 two
3 plays 2 holiday
4 watch 3 tennis
5 taking 4 London
5 museum
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Unit 1 Test

STANDARD LEVEL
ANSWER KEY

Writing Speaking
12 13
Sample answer Sample answer
| have two brothers and a sister. My mum is a teacher and my | get up at 8 o’clock at the weekend.
dad is a mechanic. We live near my school and | walk to | like listening to music.
school every day. In my free time | usually play football and | usually go out with my friends Maria and Anna.
play computer games. We go to the cinema because we like watching films.

| do my homework on Sunday afternoon.
Marking criteria

Use the marking criteria below to give a score out of 10. Marking criteria

9-10 Complete, mainly accurate and appropriate. Use the marking criteria below to give a score out of 10.

7-8  No more than one omission, mainly accurate, rarely 9-10 Full contribution. Basic and some complex structures,
inappropriate. accurate and well-organised. Pronunciation mostly

5-6 No more than one omission, minor inaccuracies, clear.
sometimes inappropriate. 7-8  Adequate contribution. Basic and some complex

3-4  Several omissions, noticeable inaccuracies, often structures, generally accurate and well-organised.
inappropriate. Pronunciation mostly clear.

1-2 Many omissions, mainly inaccurate, mostly 5-6  Adequate contribution. Basic structures, generally
inappropriate. accurate and some organisation. Pronunciation mostly

0 Too little or too incomprehensible to mark. clear.

3-4 Limited contribution. Basic structures, often inaccurate
but some organisation. Pronunciation mostly clear.

1-2  Very limited contribution. Basic structures, mostly
inaccurate and little organisation. Pronunciation not
always clear.

0 Contribution too small or too incomprehensible to
mark.
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